]
L24 : M @7«‘5: 20 174 \

%ou;u‘..T;%._ EXAM 2_ 1S onN FR\DAT.
- AVE dwe m dass 'l‘ool.ag_

. Week F {oljsw ipte Foibchieg: s Pl

W-MHM.LUg

c Ancd Uouy for p;,,krua,d——
Last e - %%TW

———:

Today: Ruwlar for  Gam L.




L2, ct'd.

—————————

EXW Z .« No CWWJ\'M ov f\um etc.

* 9-lo ?m\p\ms (nna.j hawe ;u.[,_Pa,—-l-s)

. e P
One shaet f 5% paver , landunion
(by you) mates ollowed ov both wdes

Like l[inoot of bonws ...

¥ Toncs _

Bﬁslfé 'g_ rn\aavbi\{'tat WPME W, owtcomars, Sa—uru.
cpuce, eatmt)  probability
.Commt* oﬁ-;.ar'\mwjt; : daet /wa...«c.r T ?Q(‘T’P“"ﬂ ;
Canck ehryosc et
C(awlE 4) 9 '
HW6 ‘ Wh’ov\ 3\;\.{# 5 wreede c

Picrndplidas. Ml 5 e
(m-n> |
QWIS
. lomhiwotiins ! alm = Mt | TRioLA BOOK
im-2)! @ (o Comtran)

\ =



Lle, Ad 2

I

.lComeouw.d M{'f'S'; ?‘LW A and B, phalr, LS. ..

A e % mot A A‘ o, but ~ot bote
A or B A or mot & —<tc.~
A’ m-O‘\'g A‘M M“p’

'meinj Voan  dA kg rames
-Wr:‘Hk.j cets a-»f_ o . ontcamaen e/&pli;xl..}
CLaws A prbedilihy

¢« P(A or 13) = PlA) + i(f) - P(A and g)

T _—_\_\\
P(A) + P (ot A) 2 l <
AAL

¢ mhwj excluwsve evewts - W+ Ca
* lowditi omal pvoloahan Lity
. TLW cond' L rrwlp. e wrdd
¢ M'Wj cond 'L M .Fm —i-:.é_l_eg

Def'm - plale) = TA=DBD . W7 Ch—
P(®)

* Tndepondont™ epenli
> P(A ad 8) = PCA)P(B) <+



L}" 1&4’&!]

e .

Ml ipli cok e Ranke .

PUA and®) = PCAIR) #(R)
P(A avd B) = P(BIAD P(A)

M ¥ (c/(»uoS'lnj '?_.Jwr-ov’! ot ramdi 3
hawring ot be N )

% %MJMJW
" Formnla

- Tree MW

.« AlG

A%



Tree Pagmme ?"‘mf_/c\

P(p) = 0.0
P(,TID)= 0.95

? T Dc = W og
(. , ) 4%.C ?lud-cr( .
USE drugs and st fa"‘-hu

(rrue prsitive )

Chwlie )

431.5 ‘Flcujtl's
mot using t+ +est pos.
(falge 7“.)

\O-jd\ QOZ‘S' Fl““d‘e’rs
' mof‘usig t +tg - meq

(true /w.j)
l ¢ s "Posih’v‘e(— prediotive amlee
- : A e dear)
T __J M
D |45 | 2.5 | 5o p(piTy = 35 - L = soy
DF | R 7025 | 7570

b | 95 | q05 |00




O Zbﬁl‘”‘ﬂwhw

‘&g 4 Scoops (all diffent) W o
2¢ ! 2¢ - 25 24 - 23222t 2
T (ze-®'

- 26 25 .24 .7%

262513

¢!

p LA A RO



